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1. A.ttempt
a. State and
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a Data Warehouse.
Wny a dimension is

2. Attempt
What is
r) Name and iletine lhe utiliry* t"hat iras to be
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il) Drarv a neat dragraro rirar j.iiusu:ries lhe various
\\4rat rs .Lhe significa;;--.r.: :.rf I,lS .Far-arni:rers in .*1e

til.e'.r

N. B.: (l) All questions are comptriso,ry.
(2) fu{ake suitable assumptio-ns wberever necessa.ry aad state.the assumBtiolns
(3) Answen to the same quesfion must be I;,tt,pAlSrerh*.
(4) Numbers to the right indicare marks.
(5) Draw neat labeled diar#amq wherever pecessar],.
(6) lJse of Non-proqrarsmatrlq caic,,rlatom is g&Alr.g1t.
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11. Explat-n the tabs i'{ame,
,:f ar:y object tiiat is

.1. -,\rtempt dnt, tttlt) of
,-y' Wh.rt is I--.fll rvrfi iin example.

r> Lrxpiain ihe o perators
i)
rl)
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ruoiei -. Star Si;lir:iri;r
and r,r jn'iensicnal objecrs rn a*a CracJc

that have ri,r 5e Cefired in OWB. !\,hai are
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used to access

is this connection

Warehouse Bur-lder
involves Deployi:tg and Executing- Discuss.
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that is createrl?
What happens ii, letrs say for example, a table definition is updated after we
defined it and created a mapping or mappiags that inchrded it?
tilhat is the difference between ROLAP a:rd MOLAP?
Iiiustrate data explosion wi*r reference to data storage in Data Warehouse.
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Attempt Fny fpo of the following:
V,&at are the different operations rhat can be performeti on a snapshot of an object
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1, Atternpt anv three of the following:
a. Explain Snow Flake Schema.xith an exa:r.rpie.
b. Tile first step required in making use of Oracle Heteroplenecus

a Non-Oracle database is to create an ODBC
established?
Define and explain the term stagmg with respect to
Differentiate Surrogate identif.er and Businessd.

f.

suitable sxemples.

Explarn ths cirange manaserderi related tool -
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